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[A]

919 9% 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

[

|

frfofag & @ aF-@ @ &

s &1 fQarel wd el & Hed

T 7 B T 7

() Fédem et afm &t ge @&
TN 1 ¥ Gerar &7 o

Q) MRy oH Rem & | &
foepre @ SEmEr 39 B

(3) fRM Fa@ o & WA B
gmﬁaﬁﬁmaﬁmm
|

(4) FRym fre afd @ oo wIe
@E M HE § G BT 8l

O HaaT H A B O o

T FHEAN € 7

(1) WEads fiaw

(2) RS R

(3) goAIH® f=ic

(4) STAETTS i

frffeag & & dF-@1 & FUA

A & [l & a=ew ¥ 7T

HI B 7

(1) TN A&l & MR 2 2l

(2) e ST B &

(3) T B WY WG Ig ST
geﬁ'{%aﬁﬁaﬁr%ﬁwﬁ
|

(4) SR e & e T8 e
i B I B SSH qHH
T B B
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1.

g

|

Out of the following which one is
the wrong statement in context of
characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance.
(3) Guidance is  helping the
individual  himself  through

others efforts only.

(4) Guidance i1s  assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking

(2) Perceptual thinking

(3) Creative thinking

(4) Critical thinking

Out of the following which one of

the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.

P.T.O.
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4.

|

|®

[~

R & I A b [0 G
QT R B R 7

(1) &R fafy

(2) st fafy

(3) A Ay

(4) STrteer fafy

frefefag & @ f9-@ s orav
g% B [Aar & 7 ?

(1) e qeaiy &l T FHREA
(2) gl 1 T ITEE HTA
(3) @A

(4) R = ¥ e

Frfafad & & @9-91 @& I9g0 &}

e MG |50t N < e s N TR O

HaNhTcHh  ARRH &Y Fa dlichd

T % ?

(1) STEUFTH®  —  OROTHd —
Hph — IAMET

(2) SEYNTH® — SIRERITEE —
RIS — ITET

(3) NERMHE — AINETHE  —
JROTHS —> IS

(4) TEAIFTHS —> TRUMES —> IcaeA
— HAPROTS

I5 fhad @er & ‘iR TEe
AR aAfvia wgfEr & am 87 7

(1) HiféT B
(3) IS

(2) Sifeare
(4) B
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[4]

4.

g

|®

[~

Which is the oldest method for the
study of behaviour ?

(1) Experimental method
(2) Clinical method

(3) Psycho-physical method
(4) Introspection method

Out of the following which one is
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Aesthanic in constitution

Which one of the following is the
correct logical order of observational
learning process according Learning
Theory of Bandura ?

(1) Attentional — Retentional —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Attentional — Retentional —
Production — Motivational

Who stated that "Personality is the
sum total of innate and acquired

dispositions" ?
(1) Mortin Prince  (2) Allport

(3) Valentine (4) Cattell



[5] [A]

8. F=fafea & 9 HH-AT fJHE $ dewd 8. Which one of the following is false
¥ oG FE T 7 statement in context of Development ?
(1) fom ¥ uRgdw Fied & 2| (1) Development involves change.
OAREEASIES Vet W B 2 (2) The development pattern is

unpredictable.
(3) RPwE e, ugEEd e @ (3) Early development is more
SNl T S FI?WE(“T B 2 critical than later development.
4) fgeE dRuFEar Td S @ (4) Development is the product of
SOE B B maturation and learning.

9. ﬁ?oﬁv'*ﬁ IRIRE &7 q dSH 4 9% 9. Girls surpass boys physically in :
B ® ¢
(1) Jsraraeen § (1) Infancy
(2) TR TEEEn | (2) Later childhood
(3) gd S § (3) Early childhood
(4) fpeaeen | (4) Adolescence

10. Ffafed § & d9-T8 ERRECES 10. Out of the following which one is
TIEE TG B HeEE & i the subject matter for study of

T ? Gestalt Psychologist ?
(1) HsHIHh TishaTd (1) Cognitive processes
(2) Ja (2) Consciousness
3) ‘\:I":l'a(‘ﬂi Y ¥ qEE R FEeie (3) Mental and behavioural
BERIY processes a wholes
(4) RaE & T AR EESIY (4) Modes and  problems of
existence
11. Fl?o'm ® ﬁ'q’ TN B OBES | 11. What did Freud consider the paternal
fpedl TFanfea fopam & ° love of girls ?
(1) STEHE wEeT 7t (1) Oedipus complex
2) sﬁ?@T AT If (2) Electra complex
(3) @Hq A (3) Narcissism
(4) TR @t wE (4) Feeling of dependence

Level-2/202 P.T.O.
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12.

FHA-FHA AT TA-A B q=d
YT AT &l ol § & g &
Y T Ad & AT IGH b I
B 3, I8 AATTHA H HiA-A1 R
HeT & 7

(1) I &1 a9

(2) TR O H R

(3) u1g 9 g wel &

(4) 99 F e

Freifafaa & @ aF-a sfaqdl a9
YhY A i AT B 7

(1) Femdardl S AE=is:
(2) T Afsd @9 § T
(3) A 3 Ty RS & g9

(4) T AR # 9WE A I 4
TR AT

frafofed & @ d9-8 & 5w

“Ha e’ BN YA @@ SEdn

g ?

(1) IRRFT — aHIR®e  HAdiid —
e fRef

) IRl —» "FfE REd —
AR STefRT

(3) Ry —» riRe et —
A fRafa

4) R —» AFRke Rafld —
RS 9T

Level-2/202

[6]

12.

13.

Sometimes the children of gifted
parents are born with less intelligence
than their parents or vice versa,
which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(3) Law of Maternal and Paternal
Lines

(4) Law of Chance

Which of the following is the

characteristic of introverted thinking

type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual
pursuit

(3) Supports theory with facts

his

insistence and vehemence

(4) Propagates views  with

Out of the following which is correct
sequence given by James Lange's
"Theory of Emotions" ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation — Bodily expressions
— Mental state

(4) Situation — Mental state —
Bodily disturbance



15.

frafofea & & P9-0 6 ordfe
# faQwar 78 ® ?

(1) SRR

(2) e qRREfT F TR

(3) oTed 9

(4) FRAT H et | B

Frifafad & & $F-8 T geremehar
B AT TMed W SNl AEHfeHd
T | Wfuied 7&f @ § ?

(1) Herar STt

(2) T qE Bl @I

(3) &=

(4) Gepea fEToT

frfafeg & & @9-9 wh faQwar

gl S=e ) gfe @ IugH e

g7

(1) Teit & IR Er & Hied 2

(2) FSA TR BEN P TERT B

(3) 90 WBR H SMEMRAT WA &
e I] ¥ SR §ed SREh
T a8 2

(4) S HB IBA G A BT & I
EECAUECE EANICEICEa RS K|
P MATHAT BNl 2l

qA:EY e w1 Y e @ A

g7

(1) 10 9 12 a9

(2) 69 12 a9

(3) 11 ¥ 16 a9

(4) 8 § 10 a9

Level-2/202

[Z]

15.

18.

[A]
Out of the following which one is
not the characteristic of insight ?
(1) Incidental
(2) Response in novel situation
(3) Habit strength
(4) Response spontaneity

Out of the following which one
the
prescribed by Gordon in

is not stage of creativity

his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation

Out of the following which one
characteristic not suits to gifted
children ?

(1) Learn rapidly and easily.

(2) Perform difficult mental task.

(3) Knows about many things of

which most of the students are
unaware.

(4) Much drill is required to retain
what he/she has heard or read.

What is the age range of puberty
stage ?

(1) 10 to 12 years

(2) 6 to 12 years

(3) 11 to 16 years

(4) 8 to 10 years



[A]

19.

frfefed & @ @a9-@1 @ 3 &
foreaes aderr @ R T8 & 7

(1) ST STer TerT

(2) T H b [ETET qLer
(3) & o= e

(4) U TATST g

S g & AgER S== fH oy
o H I o faeBi e § 7

(1) 6@ 8a%
(2) 87 109
(3) 78 9T
4) 119 1499

21. I8 [T Fal o1 6 ‘U AR I

IO # gREAE BT & Riom d
I T 9 o & e T 87 7

(1) =9
(2) feawE
(3) SfepEH
(4) Bt

22. 9= B W g1 WA ged w

iRl H B e @ gl @
M FEd & °

(1) Giaftes Rerar

(2) widfte HagAsiear

(3) Hiafes fa=m

(4) wiatee qmeA

Level-2/202

[8]

19.

Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test
(2) Koh's block design test
(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which the
abstract reasoning ?

age child develops

(1) 6to 8 years
(2) 8to 10 years
(3) 7to 9 years
(4) 11 to 14 years

21. Who stated that "An individual is

intelligent in proportion as he is able
to carry on abstract thinking" ?

(1) Terman

(2) Dearborn
(3) Buckingham
(4) Calvin

What is the process of releasing the
hidden emotional suffocation and
powers inside the children called ?

(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis

(4) Emotional competency



23. f=fofad & @ #9-d1 ws wifafy

foe SugE 7@7 & ?

(1) e argar e § arRager Refd
Y& &

(2) foenfl & et & I &
(3) T TN
(4) Fem ¥ foam-fomst

Ao = g1 gheer § fem #E
freifa & ?

(1) 12 2) 10
(3) 30 4) 31
25. QAR TSN & O & w9 # B9
ST ST & 2
(1) 3o Teo UMETEH
(2) YEdTSil
(3) &
(4) sia

qQfEmies dEe B SIS FaT
fopar o 7

(1) o go TUETEH
(2) Sto Tdo AR
(3) 3o Hlo Bl
(4) Sflo THo WHIX

Level-2/202

[91]

23.

26.

[A]

Out of the following which one
activity is not suitable for satisfying
the instincts curiosity ?

(1) Awarding positions in the class
or school

(2) Answering the questions of the
students

(3) Problem solving
(4) Discussion in class

How many cards prescribed in
Rorschach Ink Block Test ?

(1) 12 (2) 10
3) 30 4) 31
Who is known as father of

Educational Psychology ?
(1) E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno
(3) E. B. Hurlock

(4) G.S. Marmor



[A]

21.

URFET & FTEAR AR & FHIGHITD
farepra @0 el oraR HN-H § 7

(1) Il S\ ™ A4

(2) YedM S9M YA Hif
(3) uReH B a9 S
(4) IEALNAT I Rerar

M@ & AR @M @B Bl
e & ‘fer qRuear SR &al
S B 7

(1) Araraeen

(2) SrEEET

(3) fepsmRraen

(4) Mg

29. V9 HE Akl AU foERi A el

Bl fhEl TH qHX ik & TgEY ST
& HT A1 & T T8 IFIHT BT
e B, A 34 TER H PR dE-A
SR Sl V& giekT el § 7

(1) TR

(2) e

(3) o™ T

(4) faemo=s

frafafag & @ S9-91 S9Een &)
A 99T fqeR 78 2 ?

(1) ot B FH
(2) gaar

(3) SIS ISR
(4) THAT

21.

30.

Which is the fourth stage of psycho-
social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation
(2) Identity v/s role confusion
(3) Industry v/s inferiority

(4) Generativity v/s stagnation

According to 'Ross', which stage of
development is known as 'Pseudo
Maturity' stage ?

(1) Infancy

(2) Childhood

(3) Adolescence

(4) Adulthood

When a person tried to make his/her
thoughts and action according to
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projection

(3) Rationalisation

(4) Displacement

Which one of the following is not
the common
childhood ?

(1) Depletion of Energy

speech disorder of

(2) Lisping
(3) Slurring
(4) Stuttering

Level-2/202
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[A]

[T - II (PART - II)
A7 (< g 3fSH) [ LANGUAGES (HINDI & ENGLISH) |
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31.

fheg  wEaEs g @& fE
AfRTaTe e § g 8 7
(2) B
(4) AIq

(1) S
(3) T

32. [ focq § ‘dahared®’ a@d & ?

(1) Bram a3 = 2

(2) A A omel @ & =

(3) B AT & B HEH N B S
(4) TSI YT HAA B B

33. U @ 3 @ fpE = #H @

R ?

(1) A - T
(2) FT -
(3) femiisT - &4

(4) qgU - A

34. GUE-FE # e § IH-AT A

gaTe ?

(1) BIHET - & q I il B
(2) R - 9 § 9 o ar

(3) RIS - I & TR AfKT

(4) ggEle - 9y & fow gt

Level-2/202

35.

Fret & & di9-a1 9= ‘of’ Sued @
ffig 78 ? °
(1) g
(3) oryfed

(2) g
(4) SFFTH

3. M9 # 9 59 ey &1 #9 Tog

g7

(1) " ® I=R0 ©E ot B

(2) et @i @i o A aen |
P WA B

(3) ‘@ AR T B} od WX o Fa
S Bl

(4) ‘g A ‘@’ e aot wEw 2

37. 59 fohea & ol 9= fRew 8 °?

(1) drstars, AsiH, &
(2) FRR, SARTIENRT, FHEMI

(3) FAH, STHHH, TeEaR
(4) fenea, e, &Hal

38. YgigarEl v=a & ded § oG faeeq

gﬁﬂ'\f:

(1) S - =T, TE, Al

(2) SEFHR - 3, T, 7%

(3) fBRT - A, @, g

(4) @reT - B, Aggd, SfERy

P.T.O.
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39.

41.

42.

fpe are # uRwcEEE oo @
ST B3N ® 7

(1) F Hicht e T g

(2) 3@ 9 99 # §gq A PRI
(3) B & NEM =T 2

(4) RAS T8 TS ol

40. QUi & 99g Al GeEar S §9i

B & SH A B Helh Qi
ﬂﬁQ:

(1) S99 & [F® & TR

(2) gul AR A

(3) R R @t drest BT ST v
(4) AW % AW STl & aH

e A § gaam el oRgRE T ?
(1) TR J&T% 98 Tel a8 o

(2) & ST B X @ g

(3) REm +ft @/ &, e B

(4) W B FB W IR T A @

foeir s @ g @ ogfed g™
TR

(1) 9 - 9%

(2) R - Fe=ERa
(3) faqga - wfer
(4) 7YX - =g

[12]

43.

B & d€9 § @9-w W oglaa

g7

(1) Pl g% W e w® &1 -
CELCNER)

(2) T 9 P 9 foredt Bl -
faeprien foma

(3) s & AR 9" W R -
REXCAEDI

(4) T2 foEeT § ST @Ml @I -

s Be

44. 9 faew ¥ dfe-faese ogfam R ?

(1) sfeear = afe: + T
(2) eside = omsfl: + ae
(3) ToRr = + I

(4) qUETA =T9: + FA

45. /91§ @ 59 e’ & 7 g 78

g7
(1) & 9 Bl ARAT -
B ST 3T
(2) SRIE S BIAT - g9 Bl S
(3) R 1 TENT U q ST -
o TRHH BT
(4) gt H S A - qE GAH B

Level-2/202
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[A]

Direction : Answer the following questions by selecting the most appropriate option.

6.

Choose the correct option to fill in
the blank :

This pen is both good ........ cheap.
(1) as well as

(2) as well

(3) but only

(4) and

41. Select the appropriate preposition to

fill in the blank :

His hut is ......... hotel Taj.
(1) above

(2) out

(3) besides

(4) beside

Choose the correct meaning of the
underlined words :

The law and order situation will only
become worse in the state due to the
riots, if the government does not do
something right now to nip it in the
bud.

(1) To plan in detail to stop a threat

(2) To destroy the problem in the
initial stage only

(3) To arrest the culprits

(4) To stop something harmful in
the initial stage

Level-2/202

49.

Select the correct option (Phrasal
Verb) for the underlined word :

She rejected his request to take her
home.

(1) turned up
(2) turned down
(3) turned out
(4) turned off

50. Select the appropriate modal to fill

in the blank :
Trespassers ........... be punished.
(legal notice)

(1) shall (2) may
(3) should (4) ought to

3l. Choose the appropriate preposition
to fill in the blank :
What is the time ........... your
watch ?
(1) in (2) from
(3) by (4) on

52. Select the correct option (Phrasal

Verb) for the blank left in the
sentence :

Cholera has
(1) broken out
(2) broken down
(3) broken up
(4) broken off

........... in this village.



[A]

53.

Choose the part of the sentence
which is incorrect :

The party president made
()
Rakesh a M. P. candidate
(b) (c)

for the coming election.

(d)

(1) a
3) ¢

2) b
4 d

94. Choose the part of the sentence

which is incorrect :

He did not  keep his words
(a) (b)
to pick himup  from WTP.
(©) (d)
(1) b (2) c
(3)d 4) a

55. Choose the correct tense form to fill

in the following :

I had consulted my lawyer before I
<vevee.... the complaint.

(1) did lodged (2) had lodged

(3) lodge (4) lodged

96. Choose the appropriate modal to fill
in the blank :
He ............ listen to the stories of
his Grand Ma before he slept.

(Past habit)

(1) could (2) shall
(3) would (4) might

[14]

51.

Choose the correct meaning of the
underlined words :

The hostess broke the ice by
introducing the strangers to each
other.

(1) To make people relax with each
other

(2) To make people perplexed with
each other

(3) To serve welcome drink to the
guests

(4) To start a game of puzzle

Choose the correct tense form to fill
in the blank :

Municipality has decided to
the overhead wires.

(1) did away with
(2) do away with

(3) has done away with
(4) had done away with

99. Choose the correct option for the

following :
One who wastes a lot of money is :

(1) frugal
(3) prodigal

(2) recluse

(4) reticent

Select the appropriate modal for the
expression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(2) can
(4) would

(1) may
(3) ought to

Level-2/202
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[A]

[ - III (PART - III)
Y 3199 (GENERAL STUDIES)

RIS ARG, Tiiched ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

63. TF FHUS fasbal 33 HieX HUST

TF IR & a1 66 HeX §, O 39
R ¥ ¢ &7 g% g 1.32 9t
oY & gt @ g ©

(1) 1000
(2) 50

(3) 500

(4) 5000

140 #HieX =l WL B A
60 fFfi /gver B, 3@ 260 Hiex =

QWHH B IR B H haar 99"
T ?

(1) 18 §&vs
(2) 24 q&FTE
(3) 30 QTS
(4) 32 q&vs

ITIH,
11 9T 38 CRELE
T I w]
gfqerd 2 :

(1 11%
(2) 22%
(3) 50%
4) 40%
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g

®
qal B, Ol SGHE @rH
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61.

The length of a wire is 66 metre,
then the number of circles of
circumference 1.32 cm that can be
made from the wire is :

(1) 1000
(2) 50

(3) 500
(4) 5000

62. A train 140 metre long is running at

60 km/hour. How much time will it
take to pass a platform 260 metre
long ?

(1) 18 sec
(2) 24 sec
(3) 30 sec
(4) 32 sec

63. A cloth merchant on selling 33 metre

of cloth obtains a profit equal to the
selling price of 11 metre of cloth.
The profit percentage is :

(1) 11%
(2) 22%
(3) 50%
4) 40%



[A]

afk 4 g&Y a1 6 AR T B H 7
gue gfafed & w12 R’ § @
whd €, @S9 FE A G ST FE
10 g&9 @9 3 #RA 8 §Ue i
P H (b A 7 G0 B T 7
1) 6 2) 7
(3) 8 @ 9

65. g x=1+1\/§ @, @ x> +2x+3
H AN R
() 0 (2) 1
(3) 4 “4) 2

7T 318X IO 1 SFIET U BT -

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) WUZ

67. Ui ARKEl A, B, C, D @ E #, A,

B 4 Bl Af%T E ¥ @1 3, C 99
=1 8, D, B ¥ BT & T A @
T8, A ZTH BN 99 BleT § 7

(1) B
3) D

2) A
4) E
Th EEGYS IR 100 FH OB

X ST T fawet 40 qdt B, @
SHH & ®

(1) 300 &’
2) 600 ¥’
(3) 780 ¥’
(4) 900 FH’
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65. If x=

If 4 men or 6 women can do a piece
of work in 12 days working 7 hours
a day. How many days will it take to
complete a work twice as large with
10 men and 3 women working
together 8 hours a day ?

(1) 6 (2) 7
(3) 8 “4) 9
1+1 \/5 , then the value of
x2+2x+3is:
(1) 0 (2) 1
(3) 4 “4) 2

The next term of the following letter
series will be :

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) WUZ

67. Among five persons A, B, C, D and

E, A is shorter than B but taller than
E. C is the tallest. D is shorter than B
but taller than A. Who among them
is shortest ?
(1) B
(3) D

(2) A
4) E
The perimeter of a rhombus is

100 cm and one of its diagonal is 40
cm. Then its area is :

(1) 300 cm®
(2) 600 cm®
(3) 780 cm”
(4) 900 cm’



69. 1 sy d q T & o ¥ vl
forsreng & oren o o7 @ ogu 1 3
T T A H T 2 ;5 ¥ 3 AW
fersrergett 1 fobe ergur # e S,
dfes 8 Feag & 9@ Jo T @

71. =1 At § 70 gE @ S

135, 226, 353, 552, 739
(1) 353
(2) 226
(3) 552
4) 739

Z 5,000 X 12% Y% =<7 &l & q

2 9 & QURI AN T4 Bhgls A
§ X BAT

(1) 72
3) 96

(2) % 84
4) 36
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69.

[A]

Two alloys are both made up of
copper and tin. The ratio of copper
and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed, to
obtain a new alloy such that the ratio
of copper and tinbe 3 : 8 ?

(1) 3:5

2) 4:9

(3)4:7

4) 3:8

A said "that boy is the grandson of
my mother's husband. I have no
brother or sister." How is the boy
related to A ?

(1) Uncle

(2) Son

(3) Nephew

(4) Cousin

4l. Find the wrong number in the

following series :
135, 226, 353, 552, 739
(1) 353
(2) 226
(3) 552
4) 739

The difference between simple
interest and the compound interest
compounded annually at the rate of
12% per annum on < 5,000 for two
years will be :

(1) 72
3) 96

(2) % 84
4) 36



[A]

73. & gEel & A 520 ®, afy o

ﬂv

S "e @ 4% FH B QAT T
AN BA A 12% g1 Rar g, @
Wa@mw@‘ﬁ,eﬁwﬁ@

Bidl G ® ¢

(1) 210
(3) 270
frefefeq 9ot § 799 9§«
I

G4T, J9R, M20P, P41N, S90L
(1) J9R (2) M20P
(3) P41N (4) S90L

(2) 240
(4) 300

75. U% g9 F @S, ASE T4 TR

AT 19 B, T IER A
et &1 A 545 AR, @ g
T {6 ©

(1) 361 4’
(2) 286 A’
(3) 236 T’
(4) 340 %t

(4) afRoT-ui=H

Level-2/202

[18]

13.

The sum of two numbers is 520. If
the bigger number is decreased by
4% and the smaller number is
increased by 12%, then the obtained
numbers are equal, then smaller

number is :
(1) 210 (2) 240
(3) 270 4) 300

Find the wrong term of the following
series :

G4T, J9R, M20P, P41N, S90L
(1) JOR (2) M20P
(3) P4IN (4) S9OL

75. The sum of length, breadth and

depth of a cuboid is 19 cm and its
principal diagonal is 5v5 cm, then
its surface area is :

(1) 361 cm®
(2) 286 cm”
(3) 236 cm®
(4) 340 cm’
If a person walks 8 km towards
South then turns right and walks
8 km, again turns left and walks

10 km. In which direction is he from
starting point ?

(1) East-South
(2) North-East
(3) North-South
(4) South-West



e a8 aReT e d gt

T & X a8 @ R gea 2
Rl Ser 8, 36 9% 98 SaX fau
I gea 4 fdl @@ 31 oW 98
yRfe farg & el QX @81 & 7

(1) 5 i

(2) 6 T
(3) 3 &
(4) 4 frit
g W = 23, STRONG = 93, I
WEAK XX & :
(1) 40 (2) 41
(3) 43 4) 44
80. R Sa+——=5, A 9a’ + - &
3a 25a
qH 2 :
51 29
1) — 2) =2
(1) 5 (2) 5
52 39
3) == 4y 2=
(3) . 4) .
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11.

[A]

In a row of boys, A is 15th from the
left and B is fourth from the right.
There are three boys between A and
B, C is first left of A. What is the
position of C from the right ?

(1) 9th
(2) 10th
(3) 12th
(4) 13th

A person walks 2 km towards East
and then he turns to South and walk
1 km. Again he turns to East and
walks 2 km after that he turns to
North and walk 4 km. Now how far
is he from his starting point ?

(1) Skm

(2) 6 km
(3) 3km
(4) 4km
If W = 23, STRONG = 93, then
WEAK is equal to :
(1) 40 2) 41
(3) 43 4) 44
80. If 5a+L=5, then the value of
3a
9a’ + 5 18 :
25a
51 29
(H — 2) —
5
2 39
3) — 4) —
3) 5 4) 5



[A]

81.

Hieel gl # fga® & SEE W
‘qeguEl e SFF o & ded A
S At TR E

(1) 11,000 &9
(2) 21,000 &9
(3) 31,000 &9
(4) 51,000 &9

1857 @ NI & & SIGEAN B
EC-SO IR

(1) TeBTE &
(2) HHETR 4
(3) TR |

(4) TR &

83. HXay, 2021 ¥ i ‘3631 UK

SiER eifesd AftqeERe § sRamn
T 3 fhde @t ges o ?

(1) 13

2) 18

3) 21

(4) 24

frefafaa & & @9 siarn & watfys
afy % e T ® R 7

(1) Slo TTo Thdsit

(2) To &MNo fheag

(3) SF=Y veigan

(4) I e diden
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8l.

82. The hero of

84.

The amount which is given to the
sports woman on the occasion of
marriage  under  'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000
(2) Rs. 21,000
(3) Rs. 31,000
(4) Rs. 51,000

1857 Revolution
Abdurrahman Khan was related to :

(1) Bahadurgarh
(2) Farrukhnagar
(3) Jhajjar

(4) Yamunanagar

83. How many gold medals were won by

Haryana state in the '36th National
Junior  Athletics Championship',
which was held in February, 2021 ?

(1) 13

(2) 18

(3) 21

4) 24

Who among the following was the
longest serving Governor of Haryana ?
(1) B. N. Chakraborty

(2) A.R. Kidwai

(3) Jagannath Pahadia

(4) Kaptan Singh Solanki



85.

g At ofeH & SR H
FNTIRGT FHIE PN Gfed -

(i) JeIH=il APl & AHY & &Y
P FA ol

(i) ‘sRetar STwEHr & IBE Bl

T % P

(1) Fa@ FI9 (i) T8 &

(2) Fad HI (i) TEl ©

(3) T & (i) AR T & (ii) 7 §
(4) I FIT T E

“Ugadl’ e e ek § @
ferg & 7

(1) ooaq &

(2) 3fEmr #

(3) 8dfi9 ¥

(4) TFTE |

RieprT o e e P A Reg B ?

(1) Hod
(2) d=rge
(3) fear”
(4) Py
ERAN & HAl URg H gqH He
g 9% © ¢
(1) 10

(3) 14

2) 12
4) 06
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[A]

85. Read the following statements about

Haryana Sahitya Academy :

(1) The Chief Minister serves as the
President of the academy.

(i) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct

(2) Only statement (ii) is correct
(3) Neither (i) nor (ii) is correct

(4) Both the statements are correct

86. Where the 'Panchwati' pilgrimage

87. In which district

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh

the 'Chinkara
Breeding Centre' is situated ?

(1) Kaithal
(2) Panchkula
(3) Hisar

(4) Bhiwani

The minimum number of members

in the Council of Minister of

Haryana can be :
(1) 10
(3) 14

2) 12
4) 06



[A] [22]

89. F=fofad ¥ § PW-I/HN-9 Rl 89. Which of the following pair/pairs
7e B/8 7 is/are true ?
(i) 9 9 — FrA BT (i) State Animal — Black buck
(i) I 979 g STERI — S (i) Saraswati Wild Life Sanctuary —
(iii) TEX a7 A SATART — T L Kaithal
(iii) Nahar Wild Life Sanctuary —
s e N T A - Jhajjar
Choose the correct code :
() F= (O (1) Only (i)
(2) (i) 9 (iii) (2) (i) and (i)
(3) (i) &R (i) (3) (i) and (ii)
(4) e (iii) (4) Only (iii)
90. fo=falRaa # {ﬁﬁﬁ HifoTT : 90. Match the following :
qaH M+ Name Place
(A) SRS & T 7 (1) ARA (A) Birbal's Rang (i) Narnaul
(B) STeATe (i) eI Mahal
BEENEI (B) Spiritual Museum (ii) Gurugram
(C) A T=r (iii) IR (C) Chor Gumbad (iii) Yamunanagar
(D) |ies & bl (iv) T=IId (D) Sohna Fort (iv) Panipat
Zc: Code :
A B © @D A B © @D
(1) G G Gv) (@) (1) Gy @G Gv) @)
(2) (u) Gv) @ (1) (2) @) Gv) @ (1)
(3) Gv) ) ) (@) (3) Gv) ) G (@)
(4) () ) @  Qv) @) @) @G @  Gv)
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[23]

[A]

9T - IV (PART - IV)

3Rl (ENGLISH)

Direction : Answer the following questions by selecting the most appropriate option.

9l1.

The word "Weird" in the story 'A
Gift of Chappals' mean :

(1) Sweet
(2) Malicious
(3) Orthodox
(4) Strange

92. Who's the author of the story, "Three

questions" ?

(1) Leo Tolstoy
(2) Ruskin Bond
(3) H. G. Wells

(4) Graham Greene

93. Fill in the blank with the correct

conjunction :
It is
ornamental.

(1) Whether, or
(2) Both, or

(3) Neither, nor
(4) Either, but also

94. Fill in the blank with the correct

phrasal verb :

The car .............. when we were
driving through the desert.

(1) Broke down
(2) Break out
(3) Broke off
(4) Break in

Level-2/202

95.

Which of the following is spelt
correctly ?

(1) Enterttainment
(2) Enviroonment
(3) Juxtaposition

(4) Numerologgy

96. The story, 'A Different Kind of

School' talks about :

(1) Below Average Kids
(2) Differently Abled
(3) Meritorious Kids
(4) None of the above

97. Identify the phonetic symbol of the

underlined sounds :
gun come luck

H~
3) u:

2) 9
4) o

98. Choose the correct antonym of the

word 'Benign' :
(1) Malign
(2) Gentle

(3) Kind

4) Mild



[A]

99. Fill in the blank with the correct
modal :

He ................. not enter my house
again. (command)

(1) Shall
(2) May
(3) Might
(4) Should

100. Which of the word is incorrectly
formed in plural ?

(1) Scarves

(2) Dwarves

(3) Handkerchiefs
(4) Loavfs

Direction Read the following poem
and answer the questions given below
(Q. Nos. 101-106) :

A silly young cricket, accustomed to sing
through the warm, sunny months of gay
summer and spring,

Began to complain when he found that, at
home,

His cupboard was empty, and winter was
come.

Not a crumb to be found

on the snow-covered ground :

Not a flower could he see,

Not a leaf on a tree.

"Oh ! what will become, "Says the cricket,

"of me ?"

Level-2/202

At last by starvation and famine made bold,
All dripping with wet, and all trembling
with cold

Away he set off to a miserly ant,

To see if, to keep him alive, he would grant
Him shelter from rain

And a mouthful of grain

He wished only to borrow;

He'd repay it tomorrow;

If not, he must die of starvation and
SOITOW.

101. What does the word "crumb" mean
in the poem ?
(1) A small piece of bread
(2) A little stick
(3) A protected area
(4) Something inedible

102. What did the cricket complain of ?
(1) The warm sunny days
(2) The empty cupboards
(3) The boring surroundings

(4) Not able to sing

=
w

Pick out the word which means,
"Severe suffering due to a lack of
Nutrition" :

(1) Trembling
(2) Miserly
(3) Starvation

(4) Complain



104. For what did the cricket go to ant ?

o

ot

o

ot

(1) To give him food
(2) To give flowers and leaf on tree
(3) To protect himself from sun

(4) Shelter from rain and mouthful
of grain

A story with animals as characters,
that conveys a moral is called :

(1) A Lyric (2) A Fable
(3) An Anecdote (4) A Novel

The coming of 'which weather' made
the cricket 'complain' ?

(1) Winter

(3) Summer

(2) Spring
(4) Autumn

Identify the figure of speech in the
following lines :

"The Moan of doves in immemorial
elms and murmuring of innumerable
bees."

(1) Alliteration
(2) Assonance
(3) Onomatopoeia
(4) Simile

How old was Evelyn when she went
to the Royal Academy of Music ?

(1) Seventeen
(2) Twenty Two
(3) Nineteen
(4) Thirteen

Level-2/202
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[A]

109. Fill in the blank with the correct

el

ot

article :

ITwentto .............. Church to see
the Golden statue of Jesus Christ.

(1) The

2) A

(3) An

(4) Zero article

Identify the poet of the poem
'Vocation' from the choices given
below :

(1) Rabindranath Tagore

(2) William Wordsworth

(3) Sarojini Naidu

(4) John Keats

Match the phrases in Column A with
their meaning in Column B :

A B

(1) Broke out (a) was not able

to tolerate
(i1) In accordance (b) began
with suddenly in a
violent way
(11) A
hand
(iv) Could
Stomach

Helping (c) assistance

not (d) acc. to a
particular
rule, principle
or system

(1) i-b, ii-d, iii-c, iv-a

(2) i-a, ii-b, iii-c, iv-d

(3) i-d, ii-c, iii-b, iv-a

(4) 1-b, 1i-c, 111-d, 1v-a



[A]

112. "Every year on the occasion of Eid,

ot
ot

o
[

there was a fair in our village."
These lines occur in which story ?

(1) A Game of Chess
(2) Eid Celebrations
(3) Village Fair

(4) A Game of Chance

Identify the correct sentence pattern
of the given sentence :

They elected him chairman.
() S+V+0+C
2)S+V+0+0
B)S+V+C+C
4 S+0+0+C

Identify the underlined word in the
sentence :

We met a girl carrying a basket of
flowers.

(1) Noun
(2) Participle
(3) Gerund
(4) Infinitive

Fill in the blank with the correct
option :

India is a noble, generous land,

teeming ................ natural wealth.
(1) On (2) With
(3) For (4) At
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116.

el
e

ot
ot

et
[t

=
N

Identify the underlined part of

speech in the following sentence :
The moral law is above the civil.

(1) Adverb

(2) Preposition
(3) Noun
(4) Adjective

The Magistrate was a man with a
kindly nature.

Identify the underlined phrase.

(1) Noun phrase

(2) Adverb phrase

(3) Adjective phrase

(4) Participle phrase

Identify the phonetic symbol of the
underlined sounds :

Thin, Method, Author
(1) o @)
) F (G

Where was Kalpana Chawla born ?

(1) Karnal (2) Sonipat

(3) Ambala (4) Gurugram

Choose the correct option for the
underlined modal :

We should go on a holiday.
(1) Suggestion

(2) Permission

(3) Ability

(4) Necessity



121. Name the poem that talks about

o

ot

making choices and the choices that
shape us :

(1) The Road not taken

(2) Wind

(3) The Lake isle of Innisfree
(4) Rain on the Roof

Fill in the blank with correct
determiner :

I have quite .............. books on art.
(1) Little (2) A few

(3) The (4) This

Convert the following positive

sentence into comparative sentence :
This knife is not as sharp as that one.

(1) This knife is sharper than that
one.

(2) This knife is sharper.
(3) That knife is sharpest of all.

(4) This knife is more sharper than
that one.

Fill in the blank with the correct
preposition :

There was a beautiful lake
.................. us in the valley.

(1) Below

(2) Into

(3) Over

(4) With

Level-2/202
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125.

=
[=2]

ol
]

128.

[A]
Identify the grammatically correct
sentence :

(1) All the passengers, with the
driver, is killed in the accident.

(2) All the passengers, with the
driver, be killed in the accident.

(3) All the passengers, with the
driver, were killed in the
accident.

(4) All the passengers, with the
driver, was killed in the
accident.

The correct synonym of the word
'Innocuous' is :

(1) Nocuous

(2) Harmless

(3) Toxic

(4) Harmful

"My Childhood" is an extract from :
(1) My family

(2) The solar system

(3) My Ambition

(4) Wings of fire

What does the phrase, "Hue and cry"
mean ?

(1) To be kind

(2) To Hit someone

(3) Angry protest

(4) Welcome gesture



[A]

129. What did the writer find in the secret

=
(]

[t
et

=
N

drawer in the story, "The Best
Christmas Present in the World" ?

(1) A Necklace

(2) Jim's Last Letter
(3) Jim's autobiography
(4) A pen

The story, 'A visit to Cambridge' is a
meeting between :

(1) Firdaus Kanga and Issac Newton

(2) Stephen Hawking and Marie
Curie

(3) Stephen Hawking and Firdaus
Kanga

(4) Henry James and William Chang

Taro in the story, "Taro's Reward"
isa:

(1) Woodcutter

(2) Painter

(3) Magician

(4) Gatekeeper

The antonym of the word "Triumph'
1S :

(1) Success
(2) Conquest
(3) Win

(4) Defeat
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133.

Match the words and phrases in
Column A & B :

A B
(1) Homesick (a) Terrible
(i1) Ghastly (b) In pain

(i11) Gradually (c) Wanting to
be home
(iv) Painfully (d) Slowly

(1) i-d, ii-c, iii-b, iv-a
(2) i-c, ii-a, iii-d, iv-b
(3) i-a, ii-b, iii-c, iv-d

(4) 1-b, 1i-a, 11i-c, iv-d

Fill in the blank with appropriate
modal :

When I was young I
climb any tree in the forest. (Past
ability).

(1) Could
(2) Can
(3) Might
(4) May

Fill in the blank with the correct
option :

The report must be read
so that the performance can be
improved.

(1) Sorrowfully
(2) Awfully

(3) Mischievously
(4) Carefully



[29] [A]

136. Why does Jody want to bring the 140. "The bicycle goes easily enough in
fawn home ? the morning and a little stuffy after
(1) To beat it lunch." The remark is :
(2) To raise it (1) Humiliating
(3) To gift it to his friend (2) Humorous
(4) To show his father his bravery (3) Sarcastic

(4) Pinching

137. Write the Synonym of the word
"Benevolent" : 141. Fill in the blank with the correct
option :
(1) Malevolent
(2) Harsh Thieves broke ................ my
house.
(3) Altruistic
(1) Into (2) At
(4) Traitor
(3) Onto (4) Under
138. Fill H'l_ the blank with correct 142. Put the verb in the correct form :
preposition : It since early morning.
Most people work ................. (1) has been raining
nine to five. (2) have been raining
(1) Since (3) had rained
(2) At (4) is been raining
(3) For 143. Complete the blank phrase with a
(4) From suitable word :
A of ships.
139. A poem of 14 lines is called : (1) Fleet (2) Bundle
(1) An Elegy (3) Pack (4) Herd
(2) An Epic 144, Which.of the following is not a
Collective Noun ?
(3) An Allegory (1) Fleet (2) Crowd
(3) Army (4) Childhood

(4) A Sonnet

Level-2/202 P.T.O.
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145. Name the writer of the story, "The

=
»

[
[

Banyan Tree" :

(1) William James
(2) Anna Hathway
(3) E.V. Lucas

(4) Ruskin Bond

Transform the following into a

negative sentence :
Only a fool could have done it.

(1) Nobody other than a fool will do
it.

(2) None but a fool could have done
it.

(3) Not a fool is going to do it.

(4) None, not only a fool could do
it.

Early man was frightened of what in
the chapter, "Fire, Friends and Foe" ?

(1) Lightning and Volcanoes
(2) Fire

(3) Rain and Thunderstorm
(4) Animals

[30]

148. Choose the sentence which is
grammatically correct ?
(1) Between you and me, Mr

et

ot

Sharma is not to be trusted.

(2) Between you and I, Mr Sharma
is not to be trusted.

(3) Between I and me, Mr Sharma is
not to be trusted.

(4) Between you and you, Mr

Sharma is not to be trusted.

Who is the poet of the poem, "The
School Boy" ?

(1) William Blake
(2) William Wordsworth
(3) William Henry
(4) William James

Which of the following is spelt
correctly ?

(1) Conoiseur
(2) Conooiseur
(3) Connoisseur

(4) Conoisseur
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6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

J
. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE FO BN W, TRl F /A Bled § [ S T H-THAEE B oA A A1 AR A WY 39 9e-gRAH B A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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